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CITIZENSHIP CLASS TEST

1. The Citizenship Act 1955, provides how many models for acquiring the
Citizenship of India?

A. Six models B. Five models

C. Three models D. Two models

1955 Guuilmwsd FlLSHFHGT U BhIH GUYLSOITUSBEG IHHMT  (LPENBEHEIT
FBLULIQ(HEBBH!?

A. 2im (e B. ebal wep

C. weiml (pem D. ggewis (wevm

2. Match the following :

List I List II
a. Citizens by domicile 1. Art.11
b. Citizens by migration 2. Art.8
c. Citizens by registration 3. Art.6

d. Termination of citizenship 4. Art.5
a b ¢ d

A 1 2 3 4

B. 4 3 2 1

C. 3 4 2 1

D. 2 3 4 1

CQUT(HHHIH

a. GUTDAUSBLD CLPEULD (GHIQLDE6HT 1. a9158 11
b. @uiCUWITFS GlQLoH6s 2. a9IHH 8
C. UFHaleir eLPeOLD (GHIQLOSH 60T 3. a9IHH 6

d. syuiow J5Hs5 4. 0958 5
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D
A comprehensive law dealing with citizenship was passed in the Indian
Parliament in the year

A. 1967 B. 1991 C. 1955 D. 1993

@bHw  LTgTEHLaBSHH0  Gluflenwdstar @U@ OTHsF UL SuIBpriul L

Sho01(b
A. 1967 B. 1991 C. 1955 D. 1993

Articles 5 - 9 of Part - II of Indian Constitution relating to Citizenship came
into force from

A. January 26, 1950 B. August 15, 1947

C. November 26, 1949 D. January 26, 1955

BhyHw  SFweosmliiler  2-aiH UGHUTed STewrll®B  Glgujflento  umpsiu
SITFlweoemoli allgEeT 5 — 9 BeOL (LPenBHE UbHHI

A. 195000 oyemi 2geteufl 261D [HI6l B.19471b syewi(h oiderol. 151D HT6

C. 19490 spemi® peubum 2610 Brem D, 195510 opewih 2evmeufl 261D He

The word citizen is derived from

A. Greek B. Latin C. Spanish D. Urdu
FLpgear eiaid 0FTe0 6TDOLOTHUNS(HHSHIGUBLILL L &)

A. FCysésid B. ®evg g6 C. eroumefuib D. o mgl

According to Citizenship Act 1955, the ways of acquiring citizenship
I. By Birth II. By Descent

III. By Registration IV. By Naturalization

V. By Incorporation of Territory

A. 1, III, V are correct B. 1, II, V are correct

C.1II, III, V are correct D. All are correct
Glulflend UL 1955-601 LgeheuT Gujflento GUBIISBSTeTeULNSH6T
I. mrnfesr epeold II. anbsmaueuie cpeold
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[ Apre L0 |
III. ugaier cpsold IV. BuBenaswenpuller cpsold
V. I18sashdenen EenemilILIZe (LpevLD
A. 1 III, Vaf B. L II, V g
C.II, III, V&l D. smeanggin gl

7. According to citizenship act 1955, the ways of losing citizenship

I. By Termination II. By Renunciation
III. By Deprivation IV. By Naturalisation
A.1 II, IV are correct B. 11, III, IV are correct
C. L II, IIT are correct D. All are correct

Gl flewod LI 1955-601 LgeHaUT GHlpujflend EUPLILISBSHTET GULH6IT
I wyeisa Cateani® aumausber cpeod Il HIBSHH06T eLpevld

III. w®BISsHe06T cLpeold IV. QuBens (pewmuiledt cpeold
A. L II IVaf B. II, III, IVl
C. L II, IIsM D. smenggin il

8.  Which of the following rights and privileges are conferred to citizens of
India (Not to Aliens)
A. Article 15, 16, 29, 30 B. Article 15, 16, 19, 29, 30

C. Article 15, 16, 18, 19, 29 D. Article 15, 16, 29, 30, 32

OhHwTHEhdHE WLBHD Guflennd FULHHO eupmisliul Beten o fleniogsel
LOBBILD FeVINBHHEIT WITen6?

A. FlLdamm 15, 16, 29, 30 B. glLéamm 15, 16, 19, 29, 30

C. glLdamm 15, 16, 18, 19,29 D. glLdamm 15, 16, 29, 30, 32

9. Which of the following statement/s is/are correct?

I.  Naturalized citizen of India and citizen by birth are eligible for the
office of President

II.  Only a citizen by birth is alone eligible for the office of President in
USA

A.Tonly B. II only C. Both A and B D. Neither A nor B

aeumd gamml/ FmBmiseiev 61gl/ eTemeu Fifl?

L. BuBensd (pewmuled @BmId  UIpllear  ougliuenLuled @bhHu  Glujflenio
CUBB PMHAUT GQWITF HEDLUT DAIHBEH &S WIT6TEUT
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II.  Jdmpider  apsoid  @uflewwy  QummpenT GG  GWHSSTAID  GHQUITSH
SHMEVAT ASHBG HESSHWITeTeUT
A. T B B. II o1 ®Bw C. @b D. @yewiBLoeven

Consider the following statements

I.  The citizen who has been ordinarily a resident out of India for seven
years continuously deprived of his citizenship

II.  When an Indian citizen voluntarily acquires the citizenship of another
country, his Indian citizenship automatically terminates

A.Tonly is correct B. II only is correct

C. Both are correct D. Both are wrong

LlesTeu(hlD FnMBmIBemeT LIS

.  OoiLihs g wibser ShsHummel el G SuebThHH6Ne0  eumpLb
BhHWT said bsw Guwflenwen  BpasGhilBLD

II. @mn @bdHu GYsET aIHBLUUSHIL G DUOBTL (B Gloufflenouiemer GUBID
CQuTIpEl @hsHwd Guliamwmw BpsHs GCrM{HLD

A. Tl G & B. Il o (o &l

C. @yewipd & D. @y sHeupl
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